gt

A&l Wole 4] 27100 AulE

1=
T

T dolA

@

12 grect.

5

Zo| o}

SER R

Jo] A 3

5t ©
o<

®

ghet.



=
=
I+
T
of-
ﬁo
)
~
—_—
O
NI
—_—
N
o
U
T
B
o7
o
U
T
ma )
XX
= m
T BT
R AT
= <
T+ No

3B 180°

@) 45° 3 60° @ 90°

@D 30°



3. o 2"A x 9] 27

D 15° @ 20° @ 35°
@ 40° ® 45°




4. & 134 E]'OJ O A DA//CO o]x /COB = 30° &
50ptBC 50ptCA 50ptAB 9] v]&=?

D 2:4:3 @ 1:3:5 ® 2:3:4

@ 1:4:6 B 1:5:6



HE2]5-9] Zoj7} 6em 91 Yo] Ed0] Aojet ¢o] Yol A &>
e?

@ 10mcm, 36mcm? @ 10mcm, 34mem?

@ 1lmem, 36mem? @ 127cm, 34mcm?

® 127cm, 36mcm?



6. o= I AER} R S dol?

A D
\
\
\
\
8cm
II
1
|—/
B>~_gem---TC

@ 4ncm @ 6rcm @ 8rcm

@ 10mcm ® (87 -16)cm



7. TR Il ARG HEo] Holg Fahur

.6 cm-

@ 14mem? @ 167mcm? @ 18mcm?

@ 20mcm? B 227cm?



@ (107 + 3)em

@ 25mcm

@ (6m+ 6)cm

® (107 + 3)cm

® (87 + 6)cm



O 280 22 WA 5] Zo)7F 6em 1 RH /CAB = 45° ¢
A

@ (97 - 18)cm?

@ (97 + 18)cm?

45°

A

O -6cm-"B

@ (97 - 16)cm? ® (97 + 12)cm?

® (97 + 9)cm?



o] Zo]7} 5em ©]

@ 3ncm

AL, §ol7t srem? 1 FAE

3) 4rem



